Diphantus' Age Problem – Solution

Let x be Diophantus' age.

Diophantus' age (x) is made up of:

His boyhood. One sixth of his life.            
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His youth. One twelfth of his life.             
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Then married. One seventh of this life       
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Son Born. 5 years after marriage.                 5         years

His son died at half of Diophantus'

                               Total life span.               
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Diophantus died 4 years later.                        4        years

The sum of the above terms is Diophantus' age (x). Therefore an equation can be written whose only unknown is x, and the equation can be solved for x.

Equation: 
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lowest common multiple of 6,7, 12 and 2 is 84. Multiply both sides by 84.
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  14x + 7x + 12x + 420 + 42x + 336 = 84x

Group terms:

  75x +756 = 84x

Subtract 75x from both sides:

   756 = 9x

Divide both sides by 9:
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   x = 84 years
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